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Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

Wrong answer.

5. The OMR Answer Sheet is inside this Question Booklet.
When you are directed to open the Question Booklet, take
out the Answer Sheet and fill in the particulars carefully with
Blue Ball Point Pen only.

6. Please correctly fill your Roll Number in O.M.R. Answer
Sheet. Candidate will themself be responsible for filling wrong
Roll No.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using Blue
Ball Point Pen.

9. If there is any sort of ambiguity/ mistake either of printing
or factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

10. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Rajasthan Public Examination (Prevention
of Unfair means) Act, 2022 & any other law applicable and

Commission’s Rules-Regulations. Commission may also

debar him/her permanently from all future examinations.
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Which among the following district

receives highest :rainfall during
South-West Monsoon season ?

{1) Jhalawar

(2) Rajsamand
(3) Bharatpur
(4) Tonk

Dungarpur and Banswara has
largely —

(1) Gypsiferrous Soil

(2) Gray Brown Alluvial Soil
(3) Hilly Soil

(4) Red Loam Soil

ACC Limited has its Cement unit
at

(1) Gotan
(3) Sirohi

(2) Lakheri
(4) Chittorgarh

As per 2011 Censué, the difference
in male and female literacy in
Rajasthan-was approximately

(1) 23.4% "(2) 24.5%

3) 22% 4) 27%

Disposable income is

(1) GDP - the capital
consumption allowance

(2) that portion of personal
income that can be used for
consumption and saving

(3) the sum of all payments to
suppliers of the factors of
production.

(4) another
income

term for personal
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7.

8.

9.

- Wilen

AThe consumption function shows

D a positive relat10nsh1p
- between consumption rand
stock of wealth.

(2) a positive
between consumptlon
disposable income.

3) a negative  relationship
between consumption and
savings.

4) a negative relationship
between consumption and
disposable income:

relatlonship
and

-

The term hyperinflation-refers to

(1) the spread of inflation from
one country to other

(2) a decrease in fhé ‘inflation
rate

(3) a period of high inflation rates
exceeding 50% per month

(4) a period of inflation with
falling rate by 25%. .

costs of raw material
increase, other things rem‘a’ining
the same

(1) the supply curve shxfts to the
left.

the supply curve shifts to the
right.

output increases regardless of
the market price and supply
curve shifts upward.

output decreases and,
market price also decreases.

2
3

“4) the

Good with many close ‘substitutes
tends to have

(1) high elastic demand

(2) low elastic demand

(3) unit elastic demand

(4) perfect inelastic demand
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13.

A rational consumer will never
consume a unit of a good if its

(1) Marginal
diminishing.

utility is,

(2) Marginal utility is less than
average utility.

(8) Marginal utility is increasing.

(4) Marginal utility is negative.

When government spending is

"more than the total revenues

during a specific time period, this
is known as

(1) Government budget deficit

(2) Government budget surplus

3) Bzflgmced Budget
(4) Public Debt

Which of the following is NOT - a
part of the M1 definition of money ?

E

(1) Paper Currency
(2) Coins
(3) Fixed deposits

(4) Chequable and debitable
accounts

The deposit multiplier is 5 when
(1) the cash reserve ratio is 10%
(2) the cash reserve ratio is 20%
(3) the cash reserve ratio is 50%

(4) excess reserves expand 500%
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14.

15.

16.

17.

18.

If the Economy is 'under-utilizing.
its economic.resources, the Central
Bank should :

¢))
@)

discourage: investment spending

expand the money supply to
increase aggregate demand

(3)
)

decrease money supply

contract the money supply to
decrease aggregate demand.

The observation which occurs most
frequently in a sample is the

" T (1) Mode

(2) Median
(3) Arithmetic Mean
(4) Standard Deviation

The Arithmetic Mean of 13
numbers is 24. If 3 is added to each
number, then what will be the new
Arithmetic Mean ?

(1) 25 2y 27

(3 21 @ 24

If the Mode and Mean are given 30
and 85 respectively, find the
Median.
1) 32
(3) 33.33

(2) 19
(4) 75

The Physical ‘Quality of Life Index
was invented by

(1) Joseph Stiglitz

(2) Amartya K. Sen

{(3) M.D. Morris

(4) Paul A. Samuelson

in which year National Policy for

Skill Development - and
Entrepreneurship was launched ?
(1) 2014 (2) 2015

(3) 2016 (4) 2017
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20.

22,

23.

24,

25.

Human Development Report is

published by which of the following ?

(1) World Bank

(2) International Monetary Fund

(3) World Economic Forum

(4) United Nations Development
Programme

. When was Sustainable Development

‘Goals adopted by UNO ?
(1) 2014 (2) 2015
(3) 2012 (4) 2013

What, is the rank of Rajasthan in
the “India Innovation Index 2021”

released by NITI Aayog ?
(1) 10th (2) 11tk
(8) 12th (4) 13th

Which of the’ following is also
called Green accounting ?

(1) Corporate Social Responsibility
(2) Forensic Accounting

(3) Environmental Accounting
(4) Corporate Accounting

Who among the following
propounded the entitlement theory
of Justice ?

(1) John Rawls

(2) Robert Nozick

(3) Plato

(4) Aristotle

Which one of the following types of
Authority is not described by Max
Weber ? '

(1) Rational-Legal

(2) Traditional

(3) Charismatic

(4) Constitutional
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26, S Ry Tu F2 N T TR g« g | 26. Match the following using codes

IR ; given bélow :
f ~ ) . () i (Book) (Author) .
; A FARmd 1 seEnsRE A. OnLiberty i Isaiah Berlin

) B. gHRQE il TET T B. Two Concepts ii. F.A.Hayek

‘ His Tl E’gﬁ of Liberty
C. e il AR & Anarchy, State iii. Robert
g GEifEm % and Utopia Nozick
! D. zlimgwbe iv. WHRE DY) The Roadto  iv. John Stuart
f bi: | ﬁ Serfdom Mill
: He: Godes :
A B C D A B C D
1 v i i i @ v @ i i
(2) v 1 111 11 (2) iv i i il
j @ i i iv ii @ i v i
(4 v @i i i no 1w

@iviiiiii

] . Pitea & 9 TeHifes o % Gand
] 21 33 %R ;ﬁa . 27. Which of the following is not a
Ty ‘_H aftste . R c¢haracteristic of Modern
1 (1) Jpuies svea P&rspective of Political Science ?
(2) AW 3G ¢1)1 Empirical Study
(3) T3 T A " (2) Based on.Facts
] (4) SITER FI T ” (8) Study of Institutions

_ (4) Study of Behaviour
28, TrafRaa § & #F a1 e aifafess :

28. w&lo among the following is the

! Eﬁ{q ale, =, W'Wﬁ'@ﬁ%? guthor of ‘Politics : Who Gets
- (1) FEEFAHE (2) Wies T %%mw?len, If{gwi?
= B raham Kaplan.
: (@ WeA (@) el (2 Harold Lasswell
) . ¢3» David Eastqn
29. “sh @ whEm @n § wW e | (4} George Catlin :

AR SR 29. In our Constituent Assembly this

26 , 1949 3. W WK I twenty-sixth day of November,

: C] HRE l 16949, do hereby this
afem Sk TG ' onstitution. .

‘q.ﬁ A et | R % Fill in the blank. with the words

I <6l g Hif | o

(1) s, iifvae s aiade @. ;

i L]

7

fiskd in Preamble of the
sonstitution.
(2) dtfi, wiwira ik sifaR
l (3) sifiega, bl afie swemidd

Adopt, Enact and Preserve
9} Protect, Defend and Enact
(@) utelm, wdfia aft wtfedRa

Adopt, Enact and give to
wy Ourselves
(4)‘ Preserve, Protect and Defend
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32.

31.

In which one of the following cases,

the term “Federalism” is considered

as one of the basic structure of the

Constitution of India ?

(1) Keshavananda Bharati vs.
State of Kerala, 1973

(2) S.R. Bommai vs. Union of
India, 1994 €a)

(3) Minerva MillssLtd. & Others vs.
Union of India*& Others, 1980

(4) Central CodP Fields Ltd. and
Anr vs. Jaigwal Coal "Co. and
Others, 1980,y

Which of the following is not a part
of the process of impeachment for
the President of India ?

(1) President més be impeached

for  violafign of the
Const_itutionm

"(2) Impeachment? resolution
must be moved after at least *
fourteen days  Thotice in

writing signed by not less
than one fourth of the total
members of the House.
Impeachment resolution must
be passed bi»é majority of not
less than twgsthird of the total
membershipgf the House.
President miay be impeached
on grou of - proved
misbehaviour or incapacity.

3
(4)

Which of the following subject is
not included in the eleventh
schedule of the Gohstitution ?

(1) Women and Qﬁld development
(2) Public distriBltion system
(3) Family welfgte

(4) Fire services~d
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(4) =T 15(4)

34. 1990 % =¥ § Wra g0 ISrh | H
R e T 3 ! 8T T
(1) e i 3 ol A
@) e e
(3) Fom fogrd
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1) ¥ wwRe - Rl fem
UeE% & Wi 4 U9 | 98
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gl IR S AT 7
(1) e SRR e (2) shew e
@) TEETEH (4) AR

H

33. Which of the following arficle
permits the state to make

any backward class of citizens
which, in the opinion of the state,
is not adequately represented in
the services under the state ?

(1) Article 16(3)
(2) Article 16(4)
(3) Article 16(4A)
(4) Article 15(4)

&

84. Unilateral concessions by India
extended to the mneighbouring
countries during the 1990s was
called as :

(1) Look East Policy

1 (2) Gujral Doctrine
(3) Krishna Doctrine
(4) Look West Policy

. 85. Which of the following. statements
is" not correct about Directive
Principles of State Policy ?

(1) They are indispensable for
socio-economic  development
as they bestow responsibility
on the state.

(2) They may be
moral percepts for
authorities of the state..

(3) They have been borrowed from
the Constitution of Ireland.

(4) They impose a legal obligation
on the state authorities for
their implementation.

defined as
the

86. Who among the following Indian
» Prime Minister visited China for
first time after the 1962 War ?
(1) Lal Bahadur Shastri
. (2) Indira Gandhi
r (8) Rajiv Gandhi
(4) Morarji Desai

provision for the reservation of
appointments or posts in favour of

L] -
et
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(1) 10 femmer, 1996 ;
(2) 1R, 1993 ﬁj
(3) 10 femmy, 1994
(4) 179=R, 1994
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37.

i
5

38.

39.

40.

Which one of the following is not
the part of the principles of the
Panchsheel ?

(1) Mutual respect for each
others territorial integrity
and sovereignty.

2) Non-Aggression‘l

(3) Non-Interference

Settlement of International
disputes by Arbitration.

(4)

The Veto Power in the UN' Security
Council was used for the first time
in which of the following context ?

(1) Withdrawal of foreign forces
from Syria and Lebanon.

(2) China’s intervention in Tibet.

(3) Entry of China as a member of
the UN.

(4) Blockade of Berlin.

In which of the following matters
of the UN Security Council, the
decision of Council require nine
votes including the concurring vote
of five permanent members ?

(1) Substantive Security

(2) Great Power Unanimity
(3) Flexible Unanimity

(4) Military Security System

The Trusteeship: Council has
suspended its operations from
which date ?

(1) 10 December, 1996
(2) 1 November, 1{-?93
(3) 10 December, 1994
(4) 1 November, 1994
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42,
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44.
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41.

42,

43.

- 44.

Arrange chronologically the names
of Secretary Generals of United
Nations according to their tenure :

A. Trygve Lie

B. Dag Hammarskjold

C. U.Thant

D. Kurt Waldheim

() AB,C,D (2 D,CBA

8 C,D,B,A () B, CAD
Which of the following statement is

not related to World Bank ?

(1) World Bank was founded in
1944,

The headquarter of World
Bank is situated  at
Washington D.C.

Originally- it was foundéd to
help developed countries.
In time the focus of World Bank

shifted from Reconstruction fo.
* Development.

2

)
(4)

Which one of the following aspects
will be covered to study a cricket
match from sociological perspective ?

(1) Physical situations
(2) Cost-benefits
(8) Interaction patterns

(4) Management aspects

Which of the following path has
not been described by Alex Inkeles
in ‘What is Sociology’ ?

(1) Historical
(3) Analytical

(2) Empirical
4 Structural
a
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According to Durkheim, Sociology
has three main divisions. Which' of
the following is not one of them ?
(1) Social Morphology

(2) Social Physiology

(3) General Sociology

(4) .Social Statics

‘Society is a web of social
relationships.” Who has given this
statement ?
(1) Maclver
(3) Giddings

(2) Reuter
(4) Cuber

Which of the following is not the
basis of determination of ascribed
status ?

(1) Sex dichotomy

(2) Age difference

(3) Birth

(4) Political authority

Which of the following is rot a

characteristic of primary group ?
(1) Physical Proximity

(2) Small size

(3) Stability

(4) Limited Communication

Auguste Comte has mentioned
three stages of social change. Which
of the following is not one of them ?
(1) Metaphysical

(2) Instrum;ental

(3) Theological

(4) Positive

Which of the following factors is

not responsible for change in caste

system ?

(1) Western education

(2) Impact of modern means of
transport

(3) Impact of new occupations

(4). Jajmani relations
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‘Who has given the fheory of
Leisure Class ?

(1) Tawney
(8) Veblen

(2) Ginsberg
(4) Pareto

. According to Prof. Ghurye, which

of the following is vrelated to
meaning of Varna ?

(1) Colour (2) Caste
(3) Group (4) Scholarship

. Which of the following statements

is true about caste in India ?
(1) A caste is open.

(2) Caste hierarchy has ritual
basis. :

(3) A caste is an exegamous group.

(4) Membership of a caste 18
achieved.

. Who said “The prime cause of

poverty is exploitation of workers
by the capitalists” ?

(1) K. Marx (2) E. Durkheim
(3) R.Malthus (4) R. Gillin

T.K. Oommen has not mentioned
which of the following dimensions
of communalism ?

(1) Assimilationist
(2) Welfarist

(3) Separatist

(4) Particularist

. ‘Which one is not the contemporary

social problem of Indian society ?
(1) Communalism

(2) Terrorism

(3) Democratism

(4) Regionalism
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Which one of the following is not
related - to the problem of
population growth ?

(1) Problem of AIDS

(2) Shortage of food

(3) Housing shortage

(4) Unemployment

K.M. Kapadia has not considered,
which of the following as an aim of

. Hindu marriage ?

(1) Moksha
(8) Rati

(2) Praja
(4) Dharma

When a newly married couple lives
neither with girl's parents, nor
with boy’s parents, but establish a
new household of their own, such a
family is known as —

(1) Patrilocal (2) Ambilocal
(3) Neolocal (4) Consanguine

How many Purusharthas are there .
in Indian society ?

(1) Two (2) Four

(3) Five . (4). Seven

Which of the following Ashrams
expect a person to leave home and
lead an ascetic life in forest ? ’
(1) ‘Brahmacharya

(2) Vanaprastha

(8) Sannyas

(4) Grihastha

Whp was the editor of the bock
‘Public Administration in a Time of
Turbulence’ ? i

(1) Dwight.Waldo

(2) Frank Marini

(3) Robert T. Golembiewiski
(4) William F. Willoughby
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63.

64.

65.

66.

67.

68.

~zRublic adnnmstratmn consists of

all those operations -having for
their purpose, ‘the fulfillment or
enforcement of Public Policy.” Who
said it ?

(1) Woodrow Wilson,

(2) L.D. White .

(3) W.F. Willoughby -

(4) Simon, Smithburg and Thomson

Which one’ of the following is not
an objective of the New Public
Administration ?

(1) Value (2) Change
(3) Ethics (4) Relevance
Which one of :the following

activities is not covered in the 'word
‘POSDCORB’ ?

(1) Policy Making

(2) Coordinating

(3) Directing t

(4) Reporting

Which one of the followirig book. is
not related to F.W. Taylor ?
(1) Shop Management

(2) Principles of  Scientific .
Management
(8) General Principles. of

Administration °
(4) The Art of Cutting Metals

Who among the following is considered
as the father of ‘Behaviouralism’ ?
(1) David Easton

(2) Chester Barnard

(3) Herbert'Simon .

4) Robert Presthus ' *

Which' one of the following
thinkers introduced the concept of
‘Gang Plank’ in the organization ?
(1) Luther Guilick

(2) Lyndal Urwick

(3) Herbert Simoh

(4) Henry Fayol
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71.

., Which * one of the following

activities s NOT an activity in
dec1s10n—mak1ng process stipulated
by Herbeért Simon ?

§3) Intt?lligence
(2) Design

(3) Choice

4 Feedrback

. Which of the following is not a type

of leadership as suggested by Mary
Parker Follet ?

(1) Leadership of position
(2) Leadership of personality
(3) Leadership of knowledge
4 Leaderéhip of function

Which of the following is the
correct sequence of the
communication process ?

(1) Sender, Medium, Message,
Receiver, Feedback ‘

(2) Message, Medium, Sender,
. Receiver, Feedback

(3) Sender, Message, Medium,
Receiver, Feedback

(4) Sender, Message, Receiver,
Medium, Feedback

. Which one of the following is not a

‘motivator’ according to Frederick
Herzberg ?

(1) Recognition
(2) Bonus
(3) Working Environment
(4) Achievement
03
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Which of the following was not
recommended by the First
Administrative Reforms
Commission (ARC) in India ?
(1) Council of Ministers should
have maximum 45 members.
(2) The post of Deputy Minister
" should be abolished.
(3) Personnel Department should
be established.
(4) All important decisions should
be made in writing.

‘Citizen-Centric = Adminjstration’
was the title of which Report of the
Second Administrative Reforms
Commission in India ?

(1) 12th (2) 13t

(3) 14tk (4) 15tk .

Who was ther Chairman of the
Second Administrative Reforms
Commission in India ?

(1) D. Subbarao

(2) C. Rangarajan

(3) I.G. Patel

(4) M. Veerappa Moily

In which year the Second
Administrative Reforms
Commission in India was set up ?
(1) 2003 (2) 2004

(3) 2005 (4) 2006

Which was the first State to

establish the imstitution of
Lokayukta in India ?
(1) Bihar

(2) Uttar Pradesh
(3) Andhra Pradesh
(4) Maharashtra

According to  Lokpal and
Lokayukta Act, 2018 how many

members will be there in the

institution of Lokpal ?
(1) Five (2) Seven
(3) Eight (4) Ten
a
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When was the Right to Information
t enacted in India ?

¢I) 01 dJanuary 2005
& 10April 2005

15 June 2005
% 18.July 2005

Vedas are also called

(1) Shruti (2) Smriti

@ Jatak (4) Tripitak

(ﬂ " is not considered as part of
-¥2das.

ﬁ") Mantra (2) Brahman

(3) Aranyaka (4) Dharm-Sutra

“That Thou Art’, implies
(1) Selfis a material substance.
(2) -Self and Brahman are non-
P~ dual:
Self is ultimately unreal.
Nothing is self-existent.

Ej;hics of Bhagwadgita is essentially
Tﬂ Deontological

(2) Hedonistic

(3) Teleological

(4) Utilitarian

The ideal accepted in Bhagwad-

Zila is
Arhat (2) Sthitaprajna
@By Bodhisatva (4) Tirthankar -

.%n theory of Syadvada implies

Y Ordinary judgements are
imperfect and present only
an aspect of.reality.
QOrdinary judgements . are
absolutely devoid of truth.
(3) Ordinary judgements express

skepticism,

* (4) Knowledge is not possible.

03

L



el

Bt

86.

87.

88.

89,

90,

03

S T % Sga, el

(1) =5t =1 Sfi 6t afie sy

(2) = o1 S . a7Eg BT ’

(3) FH % fig i I’k arEE w7
IRG B

@ Gﬂaﬁmmﬁﬁ%@m

witg i & =R o et S w8
1) wdg@ |

(2) §EIFHERTE |

3) gEflugnER |

@ gEtRTHAr R

T g e e w o 2

(1) STt STTel

(2) TeR-wE 0 @ W el W
TheH

(3) % wpni-TeHiRe Rt
Tef

(4) 1947 T & WIET T 9y

T S
Y
ekt =1 fervama e
(1) Fdt oft weer & @l @ | Y
w3
(2) area 3R gyt 6 gl §
(3) e & s 7% 5 THawat Rar
] TG T B
(4) irera =l & srftepan g |

YA & AR ..

(1) o ht i S R |

) WM w9 ¥ @ ma-far 9
IR ET TN SATE |

(3) TEETEnE e ame |

) FTAEgmE |

l
|

86.

&

. The four Arya Satyas of Buddhism

88.

89.

90.

19

According to Jainism, ‘Nirjara’ is

(1) Influx of Karmas towards Jiva

(2) Attachment of Karmas with Jiva

(3) Blockage of influx of Karmas
towards Jiva

(4) Destruction of
attached to Jiva

Karmas

do not include

(1) Universal suffering,

(2) Suffering is uncaused.

(3) Suffering can be removed.

(4) There is a path to removal of
suffering.

‘Hind Swaraj’, by Gandhi is

(1) His Autobiography

(2) A compilation of articles
written in Newspapers.

(3) A presentation of his Socio-
Political ideas.

(4) An account of Indian freedom
struggle upto 1947,

Gandhi believed in

(1) Attainment of Ends by .any
means

(2) Purity of Ends and Means

(3) Non-violence until oppressor
reports to violence,

(4) Greatest happiness "of the
greatest number,

According to Socrates
(1) Virtue is impossible to acquire.
(2) Virtue is inherited from

parents by birth.,
(3) Virtue is relative and
changeable,

(4) Knowledge is virtue.
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Socratic ethics is best

- characterized as

(1) Deontological Ethics
(2) Teleological Ethics

(3) Consequentialist Ethids
(4) Virtue Ethics
According to Descartes,
‘Interactionism’ explains

(1) The relation of God and Man

(2) The relation of God and World
(3) The relation of Man and Woman
(4) The relation of Mind and Body

zﬁccording to Egoistic Hedonism
(1) Duty for duty’s sake is the
morality.

(2) Pleasure alone is the
standard of morality.
(3) Greatest happiness of the

greatest number i$ the moral
principle. .

4) Goodwill alone - 18
unconditiondlly good.

According to Kant, Moral Law is

(1) based upon emotions and
feelings

(2) variable according to context
and place.

(3) a categorical imperative

(4) a means to higher ends.

. Kant does not emphasise

(1) Duty
(2) Moral Law
(3) Freedom of agent

(4)" Consequence of action
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'I"heory of punishment, according to

which criminal is punished for his

own good, is

(1) Retributive theory of punishment

(2) Deterrent theory of punishment

(3) Reformative theory of
punishment

(4) Preventive theory of
punishment

Which one of the following is not
included in the traits of social
science regarding its concept ?

(1) Dealing with human relations
(2) Study of contemporary society

(3) Study of the future problems of
the society

(4) Dealing with the art of living

According to Blooms taxonomy of

educational objectives, the

hierarchical order of categories of

cognitive domain is

(1) Knewledge — Comprehension
— Application ~ Analysis —
Synthesis — Evaluation

(2) Knowledge — Comprehension
— Analysis — Synthesis —
Application — Evaluation

(3) Knowledge — Application -
Comprehension — Analysis —
Synthesis — Evaluation

(4} Knowledge — Comprehension —
Analysis - Application -
Synthesis — Evaluation

The correlation of Civies with
History shows which ‘one of the
following type of correlation ?

(1) Vertical correlation

(2) Horizontal correlation

(3) Zero correlation

(4) Co-vertical correlation
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. 100. Advantage of correlation of Social
Science with other school subjects is :

(A) To establish the coordination
in different subjects.

. (B) To create interest in_students
’ir\%gzg toward the subject.
fal

(C) To increase curriculum load.

(D) To develop social traits in
students.

Select the correct answer from the
codes given below : .

Codes :

(1) (A) and (C) are correct.

(2) (B), (C) and (D) are correct.
(3) (A), (B) and (C) are correct.
(4) (A),"(B) and (Di are correct.

101. Project method is developea by
(1) John Kilpatrick ]
(2) William W.H. Kilpatrick
(8) David A. Kilpatrick
(4) Robert Ballard John Dewey

102. Which « one of the following
teaching  method  helps in
| development of mental ability and

social science ?

(1) Lecture Method

] (2) Socialized Recitation Method
(3) Story Telling Method

* (4) Problem Solving Method
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. Which

higher cognitive abilities like
reflective thinking, creative
imagination and problem solving
in learners ?

(1) Social Recitation

(2) Field Trips

(3) Role play

(4) Brain storming

one of the following
teaching aid is both audio and
visual in its nature ?

(1) Blackboard

(2) Tape-recorder

(3) Television

(4) Magazine pictures

. According to Edgar Dale the base
of the ‘Cone of experience’
represents :

(1) Visual symbols
(2) Verbal symbols,

(3) Direct and purposeful
experiences

(4) Dramatic participation

When it is not possible to use real
objects in class due to its larger
size then which teaching aid can be
used best in place of that object ?
(1) Chart

(2) Model

(3) Bulletin Board

(4) Photos

According to National Curriculum
Framework, 2005, a social science
teacher acts as in the class,
(1) Facilitator (2) Dictator

(3) Narrator (4) Friend




108. .. & ¥ R, F= # & @9 @ | 108
XTI 1 bR TRl & 7

(1) T <higa TEaHH

- @) T $fRE yeEwn

. UL

(3) I Hi g l‘m’gﬁ
(4) eI TG .

109. Preriiea i & S 71 AR fowe A 109,
reererat v 1 Rrgra i 8 7
(1) 3Irtvsren % fag=
(2) wrelieto 1 g
(3) wngare i & Ty 1 R '
(4) GuRAT S g

110, Prafas Reed F ¥ wedmr ¥ | 110.
TR T F ITIS Al HGHA I
W‘mplﬁﬁ:

111, Prefefea § & 9 ot R g s i 1 111
S SR A ?

Q) TR AT (2) i A
@ e (4 Pawmdaen |
o . 24

According to CV Good, which one
of the following is not a type of
curriculum ?

(1) Competency centred curriculum
(2) Subject centred curriculum

(3) ’ Experience centred: curriculum

(4) Correlated curriculum

Which one of the following is not a
principle of curriculum
construction of Social Science ?

(1) Principle of motivation
(2) Principle of flexibility

(8) Principle of relationship .with
community '

-(43‘ Principle of segregation

Select the appropriate logical

sequence of Herbartian approach

of lesson plan among the following

alternatives :

(1) Presentation — Association —
Generalization — Application
—~ Introduction

(2) Introduction — Association —
‘Presentation -
Generalization — Application

(3) Introduction — Presentation —
Association — Generalizajion —

~ Application

(4) Generalization — Association —
Presentation — Application —
Introduction

Which one of the following is
actually a plan of action in the
classroom by the teacher ?

(1) Monthly planning

(2) Yearly planning

(3) Lesson planning

(4) School planning
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. When is

Which one of the following step is
not included in unit approach
given by the Morrison ?-

(1) Exploration (2) Presentation

(3 Organization (4) Specification

formative evaluation
conducted ?

(1) Before teaching a new unii:

(2) During teaching-learning
process
(3) After  completion of a

programme
(4) At the end of academic session

Which among the following is not a
characteristic of a good test ?

(1) Reliability

(2) Validity

(3) Discrimination

(4) Subjectivity

Which one of the following is a
limitation of essay-type test ?

(1) Subjectivity in scoring
(2) Easy to construct
(3) Assessment of expression

(4) Evaluation of thinking and
Imagination

In Social Science, which of the
following type of tests have greater
scope of evaluating student's
critical and independent thinking ?

(1) Multiple-choice type
(2) Selection type

(3) Objective type

(4) Essay type
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123.

Brihat Samhita of Varahmihir was
composed in

(1) Fifth Century

(2) Sixth Century

(3} Third Century B.C.

(4) First Century B.C.

Who among the following was the
founder of Pushtimarg ?

(1) Surdas

(2) Chaitanya

(3) Vallabhacharya

(4) Ramanand

Who was the author of the book
‘Kasf-al-Mahjub’?

(1) Al-Hujwiri

(2) Amir Khusrau

(8) Ziyauddin Barni

(4) Malik Muhammad

Which of the following was the first °
building constructed during the
time of Mughal Emperor Akbar ?

(1) Humayun’s Tomb
(2) Allahabad Fort
(3) Jodha Bai’s Palace
(4) Panch Mahal

. Shivaji conquered Javli from which

of the following Maratha Chiefs ?
(1) Santaji Ghorpade

(2) Dhanaji Jadhav

(3) Chandra Rao,More

(4) Melgiri Pandit

Who led the rebels after the. death
of Kunwar Singh in Jagdishpur
during the 1857 Revolution ?

(1) Chakradhari Singh

(2) Arjun Singh

(3) Maniram Dutt

(4) Amar Singh
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Who presided over the sixth
session of Indian National
Congress of Calcutta in 1890 A.D. ?
(1) Sir William Weddurburn

(2) Feroze Shah Mehta

(3) George Yule

(4) Dadabhai Naoroji

Who dropped the Home Rule

Movement, after the historic

declaration of Montague in 1917

AD.?

(1) Annie Besant

(2) Bal Gangadhar Tilak

(8) Both Annie Besani and Bal
Gangadbar Tilak

(4) Joseph Baptista °

Who presided over the special

session of Congress, held 1in

September 1920 A.D. to discuss the

issue of Non-Cooperation ?

(1) Lala Lajpat Rai

(2) Bipin Chandra Pal

(3) Motilal Nehru

4) Yijayaraghavachari

Who among the following led the
Dharasana Satyagrah during Civil
Disobedience Movement ?

(1) Annie Besant

(2) Sarcjini Naidu

(3) Sardar Patel

(4) Motilal Nehru

of the
Sarkar,

the leader
Jatiya

Who was
Tamralipta

established during Quit India

Movement ?
(1) K.C. Neogy
(2) Chaitu Harijan
(3) Zia-ud-din Ahmed
(4) Satish Chandra Samanta
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| 134. Who
‘Washington as the Commander of

135.

136.

' 137.

138.

| 139,

-appointed General
the Continental Army in American
War of Independence ?

(1) First Continental Congress

(2) Second Continental Congress
(3) Continental Army

(4) Third Continental Congress

On whose proposal the National
Assembly of France issued the
Declaration of Human Rights ?

(1) Mirabon (2) Obais

(3) Lafayat (4) Vel

On winter solstice, what will be the
angle of incidence of Sur’s rays at
90° south ?

@) o° (2) 47°
(3) 66° 3¢ 4) 23°30
Core-Mantle boundary coincides

with

(1) Transition discontinuity
(2) Lehman discontinuity
(8) Gutenberg discontinuity
(4) Mohorovic discontinuity

Which of the following is NOT

correct ?

(1) Atlantic is widening.

(2) Pacific is shrinking.

(3) The magnetic north pole is not
fixed.

{(4) Red Sea is shrinking slowly.

The Deccan trap region was formed

due to

(1) Fissure type volcanic
eruption

(2) Central eruption type

(3) Visuvisian type eriiption

(4) Pelean type volcanic eruption
a
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Homosphere largely includes

(1) Exosphere, thermosphere,
ionosphere

(2) Troposphere, stratosphere,
ionosphere

3 Troposphere; thermosphere,
ionosphere

(4) Stratosphere, mesosphere,
troposphere

How much solar energy reaches
earth surface directly or indirectly ?
1) 42% (2) 51%
(3) 65% 4) 35%

Which of the following are included

in precipitation ? Select the correct
answer from the codes given below :

(A) drizzle (B) snowfall
(C) rainfall (D) rime
Codes :

(1) (B) and (C) only

(2) (A), B) and (C) only

8) (4), (B), (C) and ()

4) (A) and-(C) only

Which of the following is a cold

current ?

oy Brazil Current

(2) Labrador Current
(3) Antilles Current

(4) Mozambique Current

Which of the following coral reef is
longest and widest in size ?

(1) Faros
(2) Fringing Reef
(3) Atoll
(4) Barrier Reef
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| 145. Which of the following is correctly

arranged from south to north ?

(1) Nilgiri,  Cardamom hills,
Annamalai, Palghat

(2) Annamalai, Cardamom hﬂls,
Palghat, Nilgiri

(3) Cardamom hills,
Palghat, Nilgiri

Annamalai,

" (4) Cardamom hills, Annamalai,

Nilgiri, Palghat

In which reglon maximum rainfall
from South-West Monsoon is
received ?

(1) Malwa Region

(2) Thar Desert

(3) Rann of Katch

(4) Western Ghats

Which of the following river makes
famous Gersoppa falls ?

(1) Sharavati (2) Kalinadi
(3) Bhadra (4) Vaitarna

Which of the following soil is rich
in iron oxide and aluminium
compounds and lack lime and silica
due to heavy leaching ?

(1) Peaty Soil (2) Red Soil

(3) Laterite Soil (4) Arid Soil

. Which of the following Cotton

Textile Centre is known
“Manchester of Uttar Pradesh” ?

(1) Kanpur " (2) Modinagar
3) Agra (4) Lucknow

as

Malkhet hills are located in
(1) Jalore (2) Alwar
(3) dhunjhunu (4) Sikar
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